

د اصف $y = x^p - \omega$

$x^p = y + \omega \rightarrow x = \pm \sqrt[p]{y + \omega} \rightarrow y + \omega \geq 0 \rightarrow y \geq -\omega$
 $[-\omega, +\infty)$

-1

د ب $y = x^p + 1$

$x^p = y - 1 \rightarrow x = \sqrt[p]{y - 1} \rightarrow R_f = \mathbb{R}$

-2

د اصف $y = x^p - px + c$

$x^p - px + c$

$(x - p)^p + p = y$

$(x - p)^p = y - p \rightarrow x - p = \sqrt[p]{y - p}$

$x = \pm \sqrt[p]{y - p} + p \rightarrow R_f = [p, +\infty)$

$y \geq p$

$y = x^p - \frac{\omega}{p}x + 1 + \frac{p\omega}{p} - \frac{p\omega}{p}$

$= \left(x^p - \frac{\omega}{p}x + \frac{p\omega}{p} \right) - \frac{p\omega}{p}$

$y = \left(x - \frac{\omega}{p} \right)^p + 1 - \frac{p\omega}{p}$

$y - \frac{p-1}{p} = \left(x - \frac{\omega}{p} \right)^p$

$\sqrt[p]{y - \frac{p-1}{p}} = x - \frac{\omega}{p} \rightarrow \sqrt[p]{y - \frac{p-1}{p}} - \frac{\omega}{p} = x$

$\left[\frac{p-1}{p}, +\infty \right)$

$y \geq \frac{p-1}{p}$

-3

د اصف $y = \frac{x^p + p}{x^p - p} \rightarrow \frac{x^p + p}{x^p - p} = y \rightarrow x^p + p = y(x^p - p)$

$y x^p - x^p = py + p$

$x^p(y - 1) = py + p$

$x = \pm \sqrt[p]{\frac{py + p}{y - 1}} \leftarrow x^p = \frac{py + p}{y - 1}$

$y - 1 \geq 0 \rightarrow y \geq 1$

$[1, +\infty)$

$$\hookrightarrow y = \frac{r|x|+1}{|x|-r} \rightarrow y|x|-ry = r|x|+1$$

$$y|x|-r|x| = ry+1$$

$$\frac{1}{r} - \frac{r}{y-r} \leftarrow |x| = \frac{1}{y-r} \leftarrow |x|(y-r) = ry+1$$

$$\frac{\frac{1}{r} - \frac{r}{y-r}}{+1 - 1} \rightarrow \frac{1}{r} - \frac{r}{y-r} = \frac{1}{r}$$

$$C(-\infty, +\infty) \cup C(-\infty, \frac{1}{r}]$$

$$y = \frac{1}{x-r}$$

$$\therefore yx^r - rx^ry = 1$$

$$yx^r - rx^ry - \frac{1}{c} = 0 \rightarrow \Delta = 14y^r + ry$$

$$\Delta = \frac{ry \pm \sqrt{14y^r + ry}}{ry}$$

$$\sqrt{14y^r + ry} \geq 0 \rightarrow ry(ry+1) \geq 0$$

$$\frac{-\frac{1}{r}}{+1 - 1}$$

$$R_E = \{(-\infty, \frac{1}{r}] \cup [0, +\infty)\} - \{-\}$$

$$\text{الف) } y = x^r - 4x + r \rightarrow \min \rightarrow [-v]$$

$$[-v, +\infty)$$

$$\hookrightarrow -x^r + rx + r \rightarrow \max \rightarrow [r]$$

$$\frac{-\Delta}{ra} \rightarrow 14 \ominus (r \ominus r) = \frac{-rf}{-r} = \boxed{4}$$

$$R_f = (-\infty, 4]$$

4

-5

$\text{Calc } y = \sqrt{x^2 - 4x + 1}$
 $x^2 - 4x + 1$
 $\min \begin{cases} x = \frac{4}{2} = 2 \\ y = \frac{-\Delta}{2a} = 10 - 4 = \frac{-16}{10} = -1.6 \end{cases}$

$\text{Calc } y = \sqrt{-x^2 + 8x + 10}$
 $\max \begin{cases} x = 4 \\ y = 14 - \frac{16}{10} = \frac{124}{10} = 12.4 \end{cases}$

$\mathbb{R}^+ = [0, +\infty)$
 $\mathbb{R}^- = (-\infty, 0]$

$\text{Calc } y = x^2 + 4x + 1$
 $\mathbb{R} = \mathbb{R}$

$\text{Calc } y = \sqrt{x^2 + 8x + 4x + 1}$
 $\mathbb{R}^+ = [0, +\infty)$

$\text{Calc } y = \frac{x+1}{x-2}$
 $\mathbb{R} = \mathbb{R}$

$\text{Calc } y = \sqrt{\frac{x+1}{x+2}}$
 $\mathbb{R} = \mathbb{R}$

$\text{Calc } y = \frac{x+1}{x-2}$
 $\mathbb{R} = \mathbb{R}$

$\text{Calc } y = \frac{x-1}{1-x}$

$\text{Calc } y = \cos^2 x + \frac{1}{\cos^2 x}$
 $\mathbb{R} = \mathbb{R}$

$\text{Calc } y = \sqrt{\frac{x^2+1}{x}}$
 $\mathbb{R} = \mathbb{R}$

